
2+3=5

7 + 2 = 4 + 4 =

2 + 6 = 1 + 6 =

1 + 8 = 3 + 5 =

1 + 3 = 5 + 2 =

4 + 1 = 3 + 4 =

6 + 2 = 8 + 2 =

COLOR&ADD

Color the correct amount and solve.

1



2+3=5

5 + 3 = 5 + 5 =

2 + 7 = 4 + 4 =

5 + 3 = 1 + 1 =

3 + 3 = 2 + 2 =

5 + 5 = 4 + 3 =

7 + 1 = 5 + 4 =

COLOR&ADD

Color the correct amount and solve.

1



2+3=5

3 + 3 = 5 + 4 =

8 + 2 = 6 + 4 =

3 + 7 = 8 + 1 =

6 + 2 = 1 + 9 =

5 + 4 = 5 + 2 =

7 + 3 = 4 + 5 =

COLOR&ADD

Color the correct amount and solve.

1



2+3=5

7 + 2 = 8 + 1 =

5 + 3 = 1 + 9 =

5 + 5 = 3 + 6 =

9 + 0 = 0 + 7 =

4 + 1 = 3 + 6 =

2 + 1 = 5 + 2 =

COLOR&ADD

Color the correct amount and solve.

1



2+3=5

8+ 2 = 5 + 1 =

7 + 3 = 6 + 4 =

3 + 5 = 2 + 7 =

6 + 2 = 1 + 2 =

5 + 5 = 3 + 7 =

6 + 3 = 5 + 4 =

COLOR&ADD

Color the correct amount and solve.

1



2+3=5

8 + 1 = 6+ 2 =

5 + 4 = 7 + 2 =

7 + 1 = 3 + 5 =

2 + 3 = 3 + 1 =

3 + 5 = 2 + 8 =

4 + 5 = 3 + 1 =

COLOR&ADD

Color the correct amount and solve.

1



2+3=5

6 + 3 = 2 + 7 =

4 + 2 = 5 + 3 =

1 + 8 = 4 + 6 =

5 + 3 = 6 + 2 =

8 + 1 = 7 + 3 =

9 + 1 = 3 + 2 =

COLOR&ADD

Color the correct amount and solve.

1


